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Unit 6 Test Review — Systems Date Period

Solve the following using the method of your choice.
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The point (x, -7) is a solution to the following system of equations. What is the value of x?
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Set up a system for each, then solve

. Let Y e fota) fave. Let L oe miles
8. Suppose that taxi-company A has a fare schedule of $1.15 per mile plus a $3 usage fee

Taxi-company B charges $0.90 per mile plus a $5 usage fee. How far can you travel so that
the fares are equal?
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9. During a football game, pretzels and sodas are sold to raise money for new uniforms. Pretzels, p,

sell for $2 each and $2.50 for a soda, s. Total sales equaled $336. Twice as many sodas as
pretzels were sold. How many sodas and pretzels were sold?
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10. The difference between the length and the width of a rectangle is 4 inches. The perimeter of
_the rectangle is 28 }nches What is the Iength /, and the width, w, of the rectangle?
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11. Debbie and Joey decided to earn money during the summer. Debbie had $8 to start with and earns $8 an

hour at her job. Joey had $16 to start with and earns $6 per hour at his job. What is the minimum number
of whole hours Debbie needs to work in order to have more money than Joey? L e}
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Use the graph to answer the following questions.
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12. Which of the foIIowing accurately describe the system of inequalities?
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13. Which of the following dolnot accurately describe a solution to the system of inequalities?
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Solve each system of inequalities below by graphing. Name one solution point.
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